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Study the tabls below carefully.

_ Characteristics Animal k| Animal ¥
Three stages in life cycie ~ Yes NG
The young resembles the adult i Yes No
e pestin one or more of s stages . Yes _ Yes
i) The moiner ooks afierneryoung ~__ No o

Which two animais would it the descriptions in tha tabie above?

: Animal X Animal Y ,
{1 Housefly Grasshopper
425 Cockroach Butterfiy
{33 Frog _ (Grasshopper
C{d Hen Meaiworm Larva

Which of the statements below correctly describes the difference/s bebtwsaen the

piant cell and the animai call?

A Tne cyioplasm i 2 plant cell appears as a thin lining whereas in an
| animal celi cytoplasm is seen io fiii the celi.

does not

B | The shape of a plant cell changes whereas the shape of an animal cell

1 A plant cell has chioroplasts whereas an animal celi does not.

{1} Aand B only
{2} AandC oniy
{37 Band C only
{4y Al the above
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grare Onthe riznt shows 5 irae.

Whicn of the i 3'* s acout the pants of the

e i ingoirecy”

Tha brancnes spread the jeaves out 5 as to maintain
its balance.

The leaves spread out io receive ai i, rain and suntight.
-r‘= oie) ';. a0 avnrf uu“a 1‘3\41'3 fc waf I and minerais.

..,Zb

:I-.Cj ‘\.Cw} '\m

{1} AandB crly {2} B and € only
3y ABard Donly {43 2, Cand 3 only

e grasshoppers i1 a ftle cage in a comer of

ta add 2 thads into the cage.

£ 4
2. //"-‘\\
e
5 T
= 7 5,
g 1 /,/
4 4 *
] 7 N
- / ~
[} A . e \\_
g T /"""{'u’ \'1""-»
i : -1 i . i 71 i B \‘:\—h‘_"
H it t Y . L P i 13 »
L) : B : C : - D

From the graph abuve, at which point of ime were the tozds introduced?

(1) A
(2) 8
B3y C
(4} D

(Y

T3nce hi rdan, Hs
recorced the grasshopper conuiation nver a period of iims in a gra ph Sﬁe day,
decid

A
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f
mange them in order.

2o

A Male call fuses with famale cell

8 Pollen grains are transferred to stigma

G Anther releases polien grains

O Seeddeveiops

E  Pollen tube grows towards ovule

(1) C=»B=PC=PpA=p (2'B=p C=pr=LA=P
(3} C=»B=SD=PA=bF M B C=Ap=>D

Study the diagram beiow carefully.

- Sunlight
Pl g ; T

YWheat grains ars
ground ta become
wheat flour

chicken mea! used {f

Y in making Urea T

vl st e
= # -.T_"\;::__,.,

Chicken Chicker pizza

Which of the statements below about the diagram above is correct?

A The chicken is a primary consumer.

B The diagram shows a focd web.

C The sunis the main source of energy.

D The arrows show a flow of energy transfer.

{1y A,Band C {2y A,Band D
3y A, Cand D (4) B.Cand D

o~

o~y ani 5 P P o ) i - i H : i : 5
GHOWING sentences descnbe how sexusi reproduction n Ciants faxes piacs.
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Which croanisms are correctly classified based on their mode of

raproduction?

Einary FiSSiGi;i—“:
? i Hibisous Staghorn Fem | Paramecium Bacteria
{23 Pa'ga*;;; Toadstoot Bs'éwfophyéf:um Hydra
i3} ?Sgaghor;“;ém . Bread Mautd "Hycéra Parameciurm
(4) Tomato | Bird's Nest Fern L Yeast Amoeba
Study Edward's famity tree below carefuity.

P o,
Key . Famnale i Maw
@ Female wih % fdate with
caly har frackles

g Sale with curly
8 hair

Which cne of tha following statements is rue?

{1) Edward has three uncles altogether.

{2} Edward's matemal grandmother has curly hair,

(3} Edward's mother and his aunt are ideniical twins.

4} Edward's male cousin's freckles came from his grandmother.

LAt
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Study the ciassification table below.
Dispersai of fruils/sseds
| | B
By wind By animals By water By spiitting
A B £
| l
1
i Has hooks Has edible
- fuits
8
C
Which ane of the examples of plants given i3 correct?
g A B . C T D E

1), Mimosa _Love Grass Rambutan | Cocenut  © Baisam

(2% . “emnonia Love Grass Papava ' PongPong | Rubber
{33 Lallang Mimosa Coconuyt | Nipah Lady's Finger
{4y Lallang Rambuian Guava 1 iplus Rubber

10. A B_.
s A
Heart ’/}_:A;:;s\ 3y
5 D c \, =/
Wv

The simpia diagram below shows the fiow of blood in cur body.
Which arrows show blood that is rich in oxygen?

(1) A and B only (2} A and C only
{3} B and D only (4)C and D only
&



thay carry biood undar high pressure.

sais that join arteries. io tha vains,

and G 28 shown below. He placed three
skars M, N and O were kapt at room
s ita refrigerator.

; - Y ! couered with
: ; § egrcdhoard
i ! !
! i g "
dry Lollon . % b grean teans ~. :
WOs 1l ; ' - |
! it ootton woot —%‘\”
! L B
. Y s h . {
piaged i . i ; | %
rafrigerator i | |
T' i . e beans '
. _‘i I i
P el ]
U S -n.:;isl coton wool . J
T .
P G

He observed that the green heans o Heakers N and Q grew into young seedlings
while thoss in Baeakers M and P dic not, :

Which of the following corciusions can Goh Leng draw based on his observation?
A Warmth is nesdad for the seeds to germinate.

B. Light is necessary for tre seeds to germinate.
. Water i3 needed for the seads 0 grow into seedlings.

(17 A and & only {(2) Aard C oniy
{3) Band Conly 3) A Banc(
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{ insscticide usad can affsct the

raph below shows how the amount s
anh. which of the foliowing

gie s}
umber of fruits harvested. Based on tha gra
tatemenis ars true?

J

f,'l

£

No. of Srnts 1

Haresied /‘“\\
\

Amount of Insecticide Used

& The number of fruits obtained increased when less insacticide is used.

B The number of fruits obtained keeps on increasing when mare insecticide
Was used.

€ Lesser fruit is obtained wher too iittle insecticide is useds.

D When too much insecticide is used, the number of fruits obtained is iess.

A camsi is well suited {o live in the desert.
Which of the statement is true about the camel?

A long eye lashes that prevent sand from being
Biown into its eyes.

B Padded feet that shield iis feet from the hot ground.

€ Humps that store large amounts of water.

{1y Aand B only {(2) Aand Conly
{3) BandConly 4) A.BendC

A farmer who sold wool had sheep with coarse hair ameng the wodol on their
bodies. He wanted to produce new sheep with soft and fine wooi by using
genetic selection. if the genetic selection was successful, which cne of the
following would NOT be a benefit produced?

(1) The farmer would not need to spend extra time removing the coarse hair.

(2} The new sheep would be able to stay cool in warm weather.

i3) More peopie would buy the wool produced by the new sheep.

(4) The clothing made from the wool produced by the new sheep would fesl
more comfortable and softer.

o0

v



agced 50¢ of sait to a beaker containing 200g of water. The peaker

waighs 150g when empty. She sfi;'recs' the muxture vigorously =o‘-§ ali the salt had

3 sh a xar on a bumer {f\ gvaporate all the Louid in
11e beskar. Then, she placed the beaker on the weighing scale again.

i §
E I P
Sait ! g — | P
. : § i K
soiubion . f. ! I !
| [
Lo . 1 2
. A ] g ¢
i dx
& A & A :
PR i
I A
Heat
weighing
scate

YWhat is the new reading on the scaie?

(1) 50g (2 150 ¢
{3y 170g (4) 200g

17, The diagram below shows the 3 substances X, Y and 4

Based on what you can see only, which of the following statements are
definitely true?

A: Substance 7 is a solid

B: Substance Y is water.

C: Substance Y has a definite volume.

D Substances X, Y and Z are the same substance at different siates.

(1} Aand C oniy {2) B and Donly
(3) A, BandDonly {4y A, CandDonly

4



18

& The diagram below shows 2 spring bein,

it ] g strelcned io different lengths using
direrant inads.
Sy s
§ =
w’;
= =
e -
L =<
. I
Lergth A ~

Leng

H
_
Atwhick length doss the SPNG possess ine greatest alasiic cotential energy?

mrh

i1 A
v A {2} 5
e 3t /

{31 C (4} D

.
L

Kern carried out an experiment to find ouf the number of times the key tc a toy

caris tumed and the distance i traveiled. He placed the car at the same starting

point, S each time. The track which the car foliowed was honzontal for 200cm
ollowed by 2 gentle slope starting at point T.

o 0,

e 200 cm

The results of his test were recarded in tha tabie below:

i

¥ T 3
i i

?Numberoftumsofthekey _d_ 2. 4 § & 1 10
; Average distance travelled {cnrz);i 50 100 150 200 j

Predict the average distance (in em} travefled by the car as it moves up the
siope when Kern made 10 tums on the toy car.

{1} 200 {2) 220
(3) 250 {4) 300

fomey
b

S

L.
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28, The giagram be

the side simultan

[
a

& following correctly identifies the effort, fuicrum and load?

Efflort Fulcrum Load
Arm and Hand Body ; Golf club

Body ‘ Arm gne Hand ' Ball

5., AmmandHand | Body  TBar _
4 Golf ciub i Arrm 5o

21 Sludy the set-up beiow carefully.

yvCompass

i
e

Key

- Compass

i

S ¢ Bar
/ {—._..J | magnet

,_.\
>

(

Which one of the foliowing compasses correctly represents compass X in the

above sat up?

{1

{3

!
¥

DO

[eun
[y

63.
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The experiment shown below was carmed out in a dark room. A clear piastc. 3
vacing paper, g clear giass and a copper sheet were n areU at varipus distanses
from the source of ighl An opague obiec! was placed betwsen the iorch angd
materia A
- — 7 —
1}
torch 5
{
;”“\.’//5 P : |
b i |
\-———-‘\\ E H
H
i i i } i 1
A B O 0
Side view

VWhen the torch was switched on, a dark shadow was seen on sheet C only.

Which one of the following shows 2 possible arrangement of the materials?

P , A i B c O

f {1} | Clear Piastic ; Tracing Paper Ciear Glass | Copper Sheet
r ’2} . Clear Glass = Clear Plastic Tracing Paper | Copper Sheet |
' {3) | ClearGiass | Copper Sheel | Ciear Piasfic | Tracing Paper |
{4y | ClearPiastic ' ClearGilass | Copper Sheet | Tracing Paper !

Study the diagram below carefully.

What energy conversion has caused the paper to have burmn marks on the paper?

{1} Solar energy = light energy.

(2) Light energy = hseat energy.

(3) Heat energy =@ light energy

{4} Light energy ==p chemical peteﬂnai enargy.

i2

Y.



24, Study the ciassification chart below carehtly.

3

| Materiais |

___{__J

RS SO —_— ey
| Metais | %__Non—metais
L___‘____ﬁq-—-—- A
i i .
ey g = i -
nagnefic || Non-magnetic | | transparent | | transiucent | | opague !
- 1 N L P . { i —
T i r
exampias exampies eyampies 2AEmDISS axamples
i : ! _ i
e ! , 1 P —
s Oles! | ° fron » Clear | |« Frosted | |« Auminium |
s . ! N Lo , !
s Nickel i = Siiver glass | | glass | | Ceraric !
i Do i

Which of the above materials are wrongly ciassified?

R

Nicke!, iron and siiver.
fren, silver and aluminium
Nickel and frosted glass
iron and atuminium

P B i T T T
U N

D
Sl

The picture below shows the Sun as viewed from Carth af daytime during a solar
echpse.

Which one of the diagrams below shows the correct representation of the
positions of the Earth, Mcon and Son in cur solar system during a solar ecpsa’

ey e e s

o
F(

Sun Moon

(4}

Sun Earth

a—
1)



26 dei Ling used two simple machines to study the relatios

o)

e
(IR RS
and the effort. She recorded har observation and plotiad the graph beiow.

Load | P

v

Efnnt

Maich -he two machines to the finas P and Q on the graph above.

: ; 5 . G
' {1} | Afixed pulley : A movable puliey

i (2 ; Aseesaw . A fishing rod

i {3} 1 A claw hammer - A ramp with an angle of inclination of 807

1 {4) | A fixed pulley ¢ A ramp with an angle of inclingtion of 307 !
27, Siudy the diagram below carefully.

When the big gear tums one round, what will happen fc the small gear?.
{1) #twitl turn more rounds in the same direction.

{2) # witl tumn move rounds in the opposite direction.

(3) ft will tum less rounds in the same direction.

(4) i will tumn iess rounds in the opposite direction.

14
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Parewh

2

it are used 13 form the foliow

-

LN

st i s

SP—

-y

Which of the

{1) B onky

ey
i

(3) Aand oy

ove s will light up?

Bulb D

(2) A and B oniy
(48, Cand D only

N
I Bully A

s
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Study the diagram balow carefuily.

; Aftar it was
i feft in a room
| .
— T for b min
- ! —
T
N i

4 > Water droplets
A
-~ e .
i — — e
; _ - 2y
4 -~ 7 &
§
—o

made basad on the experiment above?

Condensation has taken place.
Heat is iost by the aur*nmf*ir,g air
The water droplets are formed from
The room temperature is higher tha
starn of the experiment.

i

o the Doaker.
y the water in the beaker.
n tha temoerature of the water at the

SCIENCE

JL

Which one of the fa‘!owmg cerrectw shows the mamor image of the word

“SCTENCE™

s,
-y

vy
[#V]
o]

' 2CIEMCE
IMIIDS

oty
[
Y’

IONIIS

SCIENCE

/6.
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31. (George set up an experiment as shown below. He filled a piastic bag with starch
sclution. The bag is placed into a bBeaker containing water with some brown
_iodine soiution. He then left it ovemight.

iodine e
solution

Starch
solution

The next day, George observed that the starch solution in the plastic bag had
tumed dark biue.

a} Why did the starch solution turn dark biue and nct the joding soiution? (1m)

ol

b} Which part of the plant cell exhibits ihe above property mentioned in {2)?

{1m}

ig
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A
I Animals i

Frarm e s, T
. - -
[T . .

Y

#

B:
T .
!_---.“--.«d'lz:, ,____:!s\' N . / X—_,
b o] : i
L

%
A i : | E ] T !
SE-EN N S L E JLF 1L e |
¥ v ¥ v +

lizard platvpus ragont obstar sneli

crocodis harse bee crab shug
a} How are the animals being classifiad? Write down vour answers in the boxes

provided abovs I

8 Inwhich groug, G, D, B F or G woudig you place the followirg animals? {fmy

Yoodiouse: Group

i1 Bal Grous

=y

Cad
f.,u'.‘

Tigpn
/.f_fgfﬁ,_m Cucumber

Mango oy >

e S
D= 7EN
—_ L
*:_____—_—,.‘—-’!’

Group A Group B

a} In what way are the plants that produce these two groups of fruit similar?{1m}

b) Tne fruie of both groups above are adible and eaten by animais. However,
there ic a diffarence in the way their seeds are scattered.
What is the difference? (2m)

st
]
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e for growing & balsam
dpots X, Yand £
: - Pot X Pot Y  Potz
_Materiat of Pot Plastic Plastic @  Plastc :
—1ype ol Sail Clayey Garden . Sandy
{ Amount of Sofl 1500g 1000g 8000
. Amount of Water {daily) 150cms T80cm” T 1B0orm

a} Why was the experiment not a fair

one? (Tmj

b} ¥ Kandy solved the problem in (@), which soil de you think wili be best and
why? {Zm}.

t.2
ol

7y



Tha diagra 3w 3nows 3 working model of a human cfast. A rubbsr sheet is
. el , 1 : "

- i PR - H : 4 i
anreen e boftom of bezt jar and tied firmly in
./"w "_'-—)

Pl LA
{with open
| art}

- i1 belt Jar
P
i
3
i

glass tuhe ! i

Rubber Lo
abgat

Which narte of our resaratory systam do the following parts of the modei

54
et

represent” {1m}

Model . Raspiratory Systemny
Giass Tubs
Ralicnrs ;

by What woult you cbsarve in the ball jar when the rubber shest at the end of
the izr was puiled and then let go? [1m)

B2}
—i
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Lac Long placed Satup A and B below in a room at 30°C for three weeks.

(]
a3

dead organism

disposable.  § ! ] b -
3o A # drinking
transparemi ~ § ! | ST

plastic

bottia

[i straw

. %plasﬁcine
il

i
r

Hit
i

]
Dox i

U

Why is the process, which the prawn is undergoing, important to the
anviranment? (Zm)

Il
LY

7¢.
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Yun Da set up an oxperimert as snown Delaw.

Air
sump

Ligud
that R
removes '
oxygen

Cotior weoi

fibe for adding water with water

ar:d minera! salts

0y Stale the condition whicn is not shown in the diagram Dut i necesaary for the
suvival of the plant and animais in this experiment. {1m)

- gy How doez the condition stated in {(a) help the plant and animals to
sunvive?iim;

- d) What does s experiment show about the relationship between plants and
animals? (1m)
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cod chain as shown below, P, Q and R represent organisms in the figid
P——— Q3 R

A large population of 3 herbivore is introduced into the field. They feed on P but

are not eaten by R

{i} Draw a iline graph below ¢ show what happens (o the population of P. (1m}

Mao. of
Oganisms

Time

{1} Whal will happen to the population of Q, f Q only feeds on P? {1m)




. y !

: '

‘_ it:‘_‘:-:..__‘ I/‘\w H
; T~ =Y ,D_{_}?
i i T el
P SR T A %
: _ 4 ! =% ¥

{2) What coui

i obat B do (o help-acrobat A perform his somersauit at a
graater nsipnl? {1y

!

(b} When zorobat B was replaced by acrebat €, t was noticed that Acrobat
A umpsd io 2 greater neight below coming down. BExplain

¥

(Both acrobats B and © jumpéd from height X} (2m}

this observation.

77.



40, A imet

The bimetallic sirip below consists of two metais, X and Y.

X
A

Lo

HMetal Y expands more than metat X after heating.

~ 1 Prley 2 i e -~ R 19 < 4 : nested
[GilC st consisis O twe metais which sxpana differently when heated

Draw how the bimetlslic sinp wouid iock ke after heating in the box provided

pelow,

b; The same bimetallic strip 15 used in the firg alarm system shown below.

v jo — — glectric beil

i +— contact

{ ¥— bimetaflic stiip.

o+t

heat from fire

CExplain how the fire afarm is activated by the heat from the fire. {2 m)

7

Step 1: The bimetallic strip gets heated up by the heat from the fire.

Step 2:

Step &

Step 4: The electric bell rings.

-



Beaker A and beaker B coniain water at different temperaiuras.

——— Water at 20 °C

Beaker A

o

L -YWater at 80°C

!

[— —]
gm
=~

o N

Beoaker B

The two beakers of water wera placed in 2 room tempar
The water in beaker B reached the sams temperature as the water in

neaker A after 20 minutes.

Draw two lines in the grid provided to show how the temperature

ihe two beakers of water change with tima.

ature of 40°C.

s of
(2m)

Temperalwre § ... . ... . ... .. . oooTT

°6y:
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Tom conducted an experiment to find cut it ©
increases with its size. He hung ail the four magn

from a tray of avenly spread nais.

netic sirength of a bar magnet

ts gt the same distance away

Tha resui of his experment is shown below.

e

s b e e A
IR

N
o

— T
=

—

- —
e B R e M4

o~

i
3

-

{a} What congclusion can Tom draw based on his rasuit?

(b} Based on Tom's sxperiment, which of the following statements are true?
f 7 .
(m)

(Indicate the true statements with a lefter “T" in the hoxes provided)

i} Magnetic force can act at a distance.

1

o

i) Magnelism can pass through non-magnetic materiat.

|

jii) The nails are made of magnatic materiais

Ju.
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(oY)

Lo

Weights were hung progressively to two springs P and G io determine their
degree of eiasticity. The table balow shows the rasult of the experiment.

Weights attached (g) : Length of spring P | Length of springQ

: B 0 7 8 o
20 g ] I
40 12 12 '
] 86 15 14

fa; What is thé original length of spring P?

{b) Whrich spring is more eiastic? How do vou know?

{c) What is the length of spring Q when a 50g weight s hung on 7

e o

jowerad inic a basin of water vertically unii it is fully submerged.

tissue paper

glass

walar

{a) Draw a line to show the ievei of watsrin the giass.

{b) Did the tissue paper get wet? Explain your answer.

44 An empty glass with 2 piece of tissue paper stuck to iis inner surface was

(1my

(1m)

91



{6} Indicate the length of the shadow by drawing wo crosses on the screen.

{1m)

— Transparent__ |
strings

L

! f /
 _screen
touch

3
fid

(D} What property of fight causes the shadow to be formed? (1m)

§>



G ROy - “: i ok iE BB . H il [N i iy i
ng dHeme o find cut it the number of Datleries in a circut
£ i
T

ra caoad d@srams below 12 show how he would camrmy out the
exparmeanrt {2}

. Experimantat - Circuit diagram - Te
sot-up % DEY
B ot OO - T

udh,

i =
i :
i

{ 1
i

:

: #o

i :

| : i
| H

i i

] 3

{ H

1 i

e - —

(b} What can you conclugde from the two set-ups that you have drawn above?
(1mj

e~ Eridk GF Papar—~—~~~-
Have you checkad your answers?

31

55



Nan Hua Primary School

Primary 6 Science Preliminary Exams (2006)

(ANSWER KEY)
SECTION A : (60 MARKS)
an no Ans Qn no. Ans Qn no. Ans
1 2 11 3 21 4
2 2 12 2 22 4
3 i 13 4 23 2
4 2 14 1 24 4
5 1 i5 2 25 3
6 3 16 4 26 2
7 4 17 1 27 1
8 2 18 4 28 2
9 2 19 2 29 3
10 2 20 3 30 3
SECTION B (40 MARKS)
Qn No. | Answers
31a The plastic bag is semi-permeable and only allows the iodine solution to enter
but not the starch solution to exit.
31b Cell membrane.
32a A : Vertebrates B : Invertebrates
32b() | F
i) (D
33a Their seeds are dispersed by animals. ]
33b ‘Animals eat the fruits in group B and pass the seeds in the fruits in group A
are left behind by the animals.
34a The amount of soil used was different for each pot.
34b I think the garden soil would be the best, it consists of equal amounts of sands
and clay soil and therefore does not allow neither too much nor too little to
pass through and it also contains decaying materials which will act as
nutrients for the plant.

- Pagclofd



Qu No. | Answers

35a Glass tube : windpipe Balloons : Lungs

35b. The balloon would be in flatted and then deflated.

36a He is truing to find out if a decaying decomposing prawn produces carbon
dioxide.

36b Materials which are bio-degradable can be damaged and will disappear, not

| pollute the environment and also provide nutrients to the plants.

37a. Light

37b. With sunlight, the plant photosynthesis producing oxygen which the lizard and
flies need to respire.

37c. Plants produce oxygen which animals need to survive. |

38 (i) N

38 (i) | It will be wiped out, adapt to the new environment or move away.

39a. Acrobat A could jump from a greater height.

39b. The ameunt -of gravitational potential energy depends on the height and
weight of an object since the height of acrobat B and C are the same, acrobat
C is heavier than acrobat B and more gravitational potential energy can be
converted in to more kinetic energy.

40a

40b 2 : Y expands more than X and causes it to curve inwards and upwards.

1 - The metal touches the contact and it becomes a closet circuit.
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41 ,
F
L™ R I__ - -
20
42a The magnetic strength of a bar magnet does not depend on its size. ]
42b (i) | True
(i) | -
(iii) | True ]
43a 6cm
43b Spring P is mere elastic. Each time a 20g load is attached on spring P, the
length increases by 3cm. However each time a 20g load is attached on spring
Q, the length increased by only 2cm.
43¢ 13cm
44a
g T T
[ o P A
1 Iy !
i i e
I w
b BT ]
44b
44c No, it did not. The glass containers air which prevents all the water from
entering.

Page 3ol d



Qn No. | Answers

45a
%
;
45b Light travels in a straight line.
46a
Setup 1 Setup 2
& B
i ik
46b

Set up 1 will light up brighter than set up 2 as it has less batteries.

-, Papedofs




